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NO.35 + 155 ~ NO.38 + 5.4 NO.19 + 17.6 ~ NO.20 +
NO.39 + 15.2 ~ NO.40 + 9.2 NO.21 + 17.9 ~ NO.22
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NO. 21 19.7 ~ N0.23 + 5.0
NO.23 + 13.8 ~ NO.24 + 9.2 | 16.0
NO.24 + 12.4 ~ NO.24 + 19.2 6.5
NO.28 + 16.6 ~ NO.30 + 15.5
NO. 35 0.0 ~ NO.35 + 15.5
= i &t 22.5 m a A it m
E & & § 22.5 m




I ' 15U ERHEREKT #HEHESE

1000

35—k (g ck=18NAm2)

410

PU3-B300-H300

( 10.00 m4Y )
£ G - I - g = BT BERHE EE H 2

a4 1)— bk |ock=18N/mm2 | (0. 971+0. 381+1. 00+0. 41) /2 x 0. 07 m3 0. 967 40.0 3. 868

x10.0




I i&E 25V L HEXEKET MHHEE
1000
01
a2V — bk {ock=18N/mm2) |
330
MEKEE
(10.00 m&Y) )
£ wm| & ¥ " =K B = EE M E
a4 1) — k| ock=18N/mm2 | (0. 971+0. 301+1. 00+0. 33) /2 x 0. 07 m3 0.911 22.5 2.050

x10.0




